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$PROBLEM PKPD si ngl edose i.v bol us-effect conpartnment nodel

$DATA i vlpkpdest_ce.csv | GNORE=C

$INPUT I D TI ME AMI CMI' EFF=DV CLI

$SUBROUTI NE ADVAN3  TRANS1

; DATE 6- 2- 04 PROGRAMVER: XXX
; Dose=100mg or 250nyg,
;UNI'TS: Ti me=hour
; Concentration=ug/ m
. Effect = biomarker concentration, ng/ m

\

;NONMEM i s tricked to consider the peripheral conpartnent as effect conpartnent

$PK
CL = CLI ;
Vi =V ;
K =cC/v1 ;
K12 = 0.001*K ;
K21 = THETA(1) *EXP(ETA(1)) ;
S2 = V1*K12/ K21 ;
$ERROR
EMAX = THETA(2)*EXP(ETA(2))
EC50 = THETA(3)*EXP(ETA(3))
CE = F ;
E = EMAX* CE/ (EC50+CE)
| PRED = E
Y = E+ERR(1)

$THETA (0.01,0.5,2.5)
$THETA (0. 01, 100, 500)
$THETA (0. 01, 10, 50)

$OMEGA 0. 09 ; BSVKEO
$OMEGA 0. 09 ; BSVEMAX
$OMEGA 0. 09 ; BSVEC50
$SIGVA 0.1 ; ERRCV

I ndi vi dual Cl earance in L/hr

I ndi vi dual Vol unme of distribution in L
El i m nation rate constant

negligible loss from Central cnt

KEO

mai ntai ns cp=ce (kle*Vc = keo*Ve)

Ef fect conpartnment concentration

: POPKEO
; POPEMAX
: POPEC50

$ESTI MATI ON METHOD=0 MAXEVAL=9990 PRI NT=10 POSTHOC

$COVARI ANCE

$TABLE | D TI ME DV | PRED CE

NOPRI NT ONEHEADER FI LE=I VIPKPDEST_CE. FI T
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